BH
AT (BALS/BALS YY)
NSEAN BIHN =W

(&4

g

SN BB S(EA) - MRAY - BES 0l &t i BlRE2
t 39,012,614 31,120,353 7,892,261
= 19,900,820
X 3,800,000
= 15,311,794
HALCAN(BRRS/BA 25U 3,233, 166 3,876,993 643,827
= 38,000
= 3,195, 166
NEEEN BFHY XX 3,233, 166 3,876,993 643,827
= 38,000
= 3,195, 166
LAY 47,880 42,000 5,880
201 Y2 | 46,380 40,000 6,380
01 AFR 2218 12,380 5,000 7,380
OUMIBE 2 12,380
03 A2 | 34,000 35,000 A1,000
O+4&K S2YA MR S YRHAYY 29 34,000
301 LprE A2 1,500 2,000 A500
09 BAFAIHI 2 &S 1,500 2,000 A500
O=5t BRIl 22 1,500
NGOSH BIMots el H 180,000 180,000 0
307 212H0I & 170,000 170,000 0
02 QIHA AN E R 90,000 170,000 180,000
OXIZoIH21 A& A 80,000
OLHZWSE UEAT 2% 10,000
03 QI HEHSAHIEE 80,000 0 80,000
OFZLAINAE G 2Y 80,000
308 XX & A S 0| & 10,000 10,000 0
01 RIRISHZAE XS 10,000 10,000 0
OX&IHsLT LAYS 10,000
SEO0HAO 2HEE 82 20,000 19,100 900
201 Y2 | 2,000 0 2,000
01 AHR2H21H 2,000 0 2,000
OS=0tAI0L BAE SBYTAH MAE 29 2,000
301 LeHE A 11,000 11,600 2600
06 B12+olI =2l 01 10,000 10,500 A500
OFAHMHT2 I &t 10,000
09 BAFAIHI R A 1,000 1,100 A100
OFAHMET208 &t 1,000
310 =2I0/® 7,000 7,500 A500
02 2MEYS 7,000 7,500 A500
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SN
M g
chel: &

=
ALTAL (BALS/BALS YY)
s8N BYHY S

(&4

_ — Pl
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
| | | OSHAR0F HAF L P3| FHA 2,000
NEA SMstH TN (SHHES/BHESUL) 16,000 1,988,760 A 1,972,760
NEtA SMYE XI|2E 16,000 363,760 347,760
LATH SMYE FX 16,000 23,760 AT,760
201 Lete gyl 10,000 17,000 A7,000
01 AL 2+2IH] 6,000 9,000 A3,000
O=sMEE 293 29 6,000
03 B AF2 U] 4,000 8,000 24,000
O=MARAE JHE & B XL 4,000
202 044l 6,000 6,760 AT60
01 ZUH01bI 6,000 6,760 AT60
OSMEH20F R2FX 6,000
olsd 2 (2HLE5/001) 413,043 259,456 153,587
2 267,220
= 145,823
QAS AL 2 413,043 259,456 153,587
2 267,220
< 145,823
SEAALAMH PE(2D) 11,880 11,576 304
2 7,920
= 3,960
307 21201 & 11,880 11,576 304
2 7,920
= 3,960
02 QAHAAILEE 11,880 11,576 304
OZENSEHI|)| 2P2eldl X 11,880
2 7,920
= 3,960
QASH HIEAL 22 21,363 31,900 10,537
202 044l 12,000 13,000 21,000
01 2LHOI I 12,000 13,000 21,000
OHHEYA NEHE L QI EX 12,000
206 T2l 300 500 A200
01 Ml 300 500 A200
OH% AEMHE 72 300
308 X+XIEHH SO0 & 9,063 14,600 A5,537
01 RIXISHBAEES 9,063 14,600 A5,537
OMHIIHPRIZSH STHI=ES 9,063
FEAQ QAELAXIY A A (2D) 271,200 211,680 59,520
2 255,000
= 16,200




2AM: 2E
HE: (0| S (BILS/00I)
el QS AL 2] (el &)
= = AN L=
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
403 MRS S K201 A 271,200 211,680 59,520
= 255,000
= 16,200
01 [XISMAE2E X 271,200 211,680 59,520
O2gd M=sAtU WMEXH X 151,200
= 135,000
< 16,200
OE=2 MHIAHX M2 A 120,000
= 120,000
EHEQAAUANME 22 (=1) 8,600 4,300 4,300
= 4,300
o= 4,300
201 YEr2 ] 2,000 0 2,000
= 1,000
o= 1,000
01 AFR 22l bl 2,000 0 2,000
OLIZISAFZUAR OHUIEE Y EE2E HE 2,000
= 1,000
o= 1,000
301 YetB A= 6,600 4,300 2,300
= 3,300
o= 3,300
09 HAtAHIZE & Z 6,600 4,300 2,300
Oblztgts&d QIztol MH|2 4t 6,600
= 3,300
= 3,300
CHolerd X gZe 100,000 0 100,000
403 MXISHHSAH201H 100,000 0 100,000
01 AXISHMA=2EEX 100,000 0 100,000
OUJId HAXNA SAML A 100,000
MEEA HE(BHEE2S/HIIE) 20,938,972 13,014,617 7,924,355
= 14,394,600
T 6,544,372
ME HII=S XMl 5,157,676 4,950,917 206,759
= 4,498,100
T 659,576
oh® & GHRMYI| HeH(=21) 592,500 513,501 78,999
= 525,000
< 67,500
403 MRS S K201 A 592,500 513,501 78,999
= 525,000
= 67,500
01 UtXEMAE=EE 592,500 513,501 78,999
Oot&ot+ HatArE 592,500
= 525,000




2M: A3
M MEsH M (BEES/HIIS)
Chel: MENH HIIE2 S8Hel (=& JH)
A" G(3) - MPAY - B Ofl &t e HIDE2
| = 57,500
HII=Z2 tE A Hel 324,600 325,500 A900
202 (44l 7,600 8,500 A900
01 S LHOYI 7,600 8,500 A900
OXE &g HdE3 HRFZ 7,600
308 AHXISHH SOl 317,000 317,000 0
01 AXSHMBAELTS 317,000 317,000 0
oL UANU 2 317,000
Hs2EJI18 +=HMelAY 22 (TR ) 82,576 82,576 0
403 XX S S X201 & 82,576 82,576 0
02 SO 2SHCHS A2 R CHEH AL I 82,576 82,576 0
Os2ALld, SXF =HAE 2EE3 82,576
o2 SEUHH(21) 3,477,600 3,600,240 A 122,640
= 3,477,600
403 XX S S X201 & 3,477,600 3,600,240 A122,640
= 3,477,600
01 AXESHMA2EER 3,477,600 3,600,240 AN 122,640
OL=Zd01E Helbl K& 3,477,600
= 3,477,600
sSZHHIY M2lAg(=1) 654,400 429,100 225,300
= 475,500
& 178,900
308 AHXISHH SOl 220,000 220,000 0
= 220,000
01 AXHMBLAEES 220,000 220,000 0
OsZEHHIE =4l X& 220,000
= 220,000
403 XXM S X201 & 434,400 209,100 225,300
= 255,500
& 178,900
01 AXESMA2EER 434,400 209,100 225,300
O=ZHHE ss8otY &= 434,400
= 255,500
= 178,900
HOI2 &2 IHEUE A8 XA (21) 26,000 0 26,000
= 20,000
= 6,000
403 XXM S X201 & 26,000 0 26,000
= 20,000
= 6,000
01 AXESHMAE2EER 26,000 0 26,000
OMEHIIZE =8H2EXE H&3 26,000




S 2B
HE: MEBEY N (BYES/HIIZ)
Rl dENH HOIZ2 sEXd (el 8 d)
= &4
DA - BB CR(3H) - HIRAY - BAS Of & o4 St DS
= 20,000
= 6,000
HIIEHMelAldes 15,740,796 8,063,700 7,677,096
=2 9,896,500
= 5,844,296
JIERM D] MelAl" &X1(=21) 11,068,000 5,741,200 5,326,800
= 7,400,000
= 3,668,000
403 NUHXIHHS =0l A 11,068,000 5,741,200 5,326,800
= 7,400,000
= 3,668,000
01 XM= E X 11,068,000 5,741,200 5,326,800
OMeJ] A2AIE &X 3,400,000
=2 2,000,000
= 1,400,000
oXed| HEAIE &X 2,754,000
=2 1,620,000
= 1,134,000
OHIIMOIHE X FHI 4,264,000
=2 3,280,000
= 984,000
O=¢g= e Fhl 650,000
= 500,000
= 150,000
sOHEHIISMeAId &X(=210) 4,065,046 750,000 3,315,046
= 2,029,000
= 2,036,046
403 NUHXIEHHS =01 A 4,065,046 750,000 3,315,046
=2 2,029,000
S 2,036,046
01 XM= E X 4,065,046 750,000 3,315,046
OsOUEHIIZE MelAl& 4,065,046
= 2,029,000
= 2,036,046
TolE HAXAG HESE HE(=12) 607,750 552,500 55,250
= 467,500
= 140,250
403 I XISHHIS X201 & 607,750 552,500 55,250
= 467,500
= 140,250
01 XM= E X 607,750 552,500 55,250
odaMedl 22lE AEAE &X 607,750
= 467,500
= 140,250
ANE=g 43 40,500 0 40,500
Hol=2 A+ 40,500 0 40,500




2M: A3
A Matstd HE(SZES/HDIIS)
el =g 245t (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
201 Y EH2 | 22,300 0 22,300
01 AtR2t2ltl 22,300 0 22,300
OAIRA ZXE € It AN224 22,300
202 044l 15,200 0 15,200
01 =LHOYI 7,200 0 7,200
OQHIIESXs = 7,200
03 22AH NI 8,000 0 8,000
OHVI=SXES & SF0UX IHSESH 8,000
301 YetB A= 3,000 0 3,000
06 S12tol=2| 04| 3,000 0 3,000
QHII=EX&s S oA 3,000
NHSZEN(BZES/IH) 12,988,714 11,359,647 1,629,067
= 5,085,000
N 3,800,000
o= 4,103,714
Aotetd B Y AL &5 8,962,214 8,918,814 43,400
= 2,540,000
Xl 3,800,000
= 2,622,214
NHASEEA 0IEAME(Z1) 4,952,500 5,055,000 A 102,500
Xl 3,500,000
o= 1,452,500
401 Al EHIZL S CHHI 1,120,000 2,000,000 A 880,000
N 560,000
o= 560,000
01 A& Y| 1,116,000 1,962,500 A 846,500
OZRAE TtAsts5R AlgsEs 2 B 1,116,000
Xl 558,000
o= 558,000
03 Al 20l 4,000 7,000 A 3,000
OZRAE TtAsts2 Algdss 2 B 4,000
Xl 2,000
& 2,000
403 MXISHHSAH201H 3,802,500 3,055,000 747,500
Xl 2,925,000
& 877,500
01 AXISHMA=2E L 3,802,500 3,055,000 747,500
OZH EHJl - HEHA MEHGE 2H - =& 455,000
Xl 350,000
= 105,000
OIE st S MEHZSAIL 1,040,000
Xl 800,000
& 240,000
OZ 3 DMZ st28d MEHEZAIA 487,500




S BAD
X ZH - =
(==l I

Aoded
el sy 24 CEEE)

o - — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
Al 375,000
= 112,500
O OMZ OFliat, =1 ME 2t AHE 1,560,000
X 1,200,000
= 360,000
OU=HAR(SA)HEH 2E 130,000
X 100,000
= 30,000
O 22l ONI=E dHEL2 &Y 130,000
X 100,000
= 30,000
405 RhakF SHI 30,000 0 30,000
X 15,000
T 15,000
01 A =S F S 30,000 0 30,000
OZAT NsEsH MRIJ| S 7 30,000
X 15,000
T 15,000
SEIMZESMESMN NKIZ2H(F1) 400,000 400,000 0
= 300,000
T 100,000
308 AtXIEHMSOIH 400,000 400,000 0
= 300,000
= 100,000
01 HIXSHMBMEXS 400,000 400,000 0
Ogt=DMZ SotdHSA IFZZ )W X2 400,000
= 300,000
T 100,000
AHeStBE A 22 307,000 308,500 A1,500
202 O4H| 7,000 8,500 1,500
01 =UWo 7,000 8,500 A1,500
OXHZZE0F =X 7,000
307 el2tol & 150,000 150,000 0
05 QIZtRE = 150,000 150,000 0
OXdstsd 29 150,000
308 AtXIHMSOIH 150,000 150,000 0
01 HIXHMBSELS 150,000 150,000 0
OUSEMIUS MEHI22EX A 2el 100,000
O4stA= HEHB2AEHAS 2 50,000
It s gez 28(=20) 1,860,000 1,860,000 0
= 1,550,000
T 310,000
403 AXIEHHSA=01 A 1,860,000 1,860,000 0
= 1,550,000




S BAD
X ZH - =
(==l I

Aoded
el sy 24 CEEE)

- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2

S 310,000

01 HXSHMA2Ex 1,860,000 1,860,000 0
OE24d HJIA dHEYR 420,000
= 350,000
= 70,000
OYH UL == HHEYZ 360,000
= 300,000
= 60,000
Ol =l dE==tged=2 180,000
= 150,000
= 30,000
O8d itz dHEY= 300,000
= 250,000
= 50,000
O+ U= HEHFUZ 300,000
= 250,000
= 50,000
OsZlch ddlZ2 dEEYZ 300,000
= 250,000
& 50,000

MZeE NEELAE (1) 325,000 325,000 0
= 250,000
& 75,000

308 A HMSOIH 325,000 325,000 0
= 250,000
= 75,000

01 HIXHMBSEXS 325,000 325,000 0
ODMZ HEHH WEsE2 325,000
= 250,000
= 75,000

MEf2ZXS NE ¥ |S4(=21) 260,000 195,000 65,000
= 200,000
& 60,000

308 AFXIHMSOIH 260,000 195,000 65,000
= 200,000
= 60,000

01 HIXHMBYELS 260,000 195,000 65,000
OdH2ZXNS N8 & §4 260,000
= 200,000
= 60,000

Had s 25H(21) 285,714 285,714 0
= 200,000
& 85,714

307 212tol & 285,714 285,714 0
= 200,000
= 85,714

02 UHBHAIHE X 285,714 285,714 0
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K| ZH 3
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ISR
ool ReEY S CERED

- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
OFAYE Fus Z2IH X 285,714
= 200,000
= 85,714
MEN=0IH Z4(=21) 510,000 489,600 20,400
Xl 300,000
= 210,000
403 XA XISHHSX=01H 510,000 489,600 20,400
N 300,000
= 210,000
01 IXIESHMAELE X 510,000 489,600 20,400
OME=0IH =4 510,000
Xl 300,000
= 210,000
Al EH SLES X2 10,000 0 10,000
307 2I2+0I A 10,000 0 10,000
02 QItE A ES 10,000 0 10,000
OA2IEHH s2E8s X2 10,000
SAME SREA 215 T2 X3 (22) 52,000 0 52,000
= 40,000
o= 12,000
308 At XIHHSO0IH 52,000 0 52,000
= 40,000
< 12,000
01 AXEHBEAELS 52,000 0 52,000
OEMZ SXTAl 215 T2 X 52,000
= 40,000
o= 12,000
OHMS - AlZ B35 e 4,026,500 2,440,833 1,585,667
= 2,545,000
o= 1,481,500
OfME= Tafog(=2) 708,000 708,000 0
= 590,000
T 118,000
403 XIS SAHE01 A 708,000 708,000 0
= 590,000
< 118,000
01 AXISHMA=E X 708,000 708,000 0
OO0t == TIoHOIE 708,000
= 590,000
T 118,000
MECOH e/ X (=1) 88,000 95,333 27,333
= 60,000
< 28,000
308 XtXIEMS0IH 88,000 95,333 AT,333
= 60,000
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M NASEBH(BZEES/H)
CHol: OIME - Al2 25 el (=L R0
A" G(3) - MPAY - B Ofl &t e HIDE2
== 28,000
01 AXSHMBLAELTS 88,000 95,333 AT,333
OM=ECOAS ZtelH 88,000
= 60,000
& 28,000
OMSE PFX22HEH 2H(=21) 400,000 300,000 100,000
= 120,000
& 280,000
307 SIZt0I A 400,000 300,000 100,000
= 120,000
& 280,000
02 SIZtAAMAIHE X 400,000 300,000 100,000
O0tM=sE2 X 2dYH 29 400,000
= 120,000
& 280,000
MEXNAEN SEHUH(=2D) 1,495,000 650,000 845,000
= 1,150,000
= 345,000
403 X SHMSAAHE201H 1,495,000 650,000 845,000
= 1,150,000
= 345,000
01 AXESMA2EER 1,495,000 650,000 845,000
ORMNF SAAS 1,495,000
= 1,150,000
= 345,000
o s -4l B 320,000 200,000 120,000
308 XXM SO0l 320,000 200,000 120,000
01 AXSHMBAEES 320,000 200,000 120,000
QltMsZ2 IE4a K& 320,000
MEfHRESE MAAMS(Z1) 962,500 487,500 475,000
= 625,000
& 337,500
308 AHXISHH SOl 962,500 487,500 475,000
= 625,000
& 337,500
01 AXSHMBAELS 962,500 487,500 475,000
OMEHH N&tE MHA 150,000
oblsd & =42 HXZS MA 812,500
= 625,000
= 187,500
MAXIQAEEI |2 SEX ML (2IHEF X ) 53,000 0 53,000
308 KHXISHHSOI& 53,000 0 53,000
01 AXHMBLAEES 53,000 0 53,000
ONMAIXIR BEDI|2 SEHALY 53,000




SN
3 X
ool 2 CE3

(&4

A" G(3) - MPAY - B Ofl &t e HIDE2
RNz 288 22 (HBES/83252H) 1,287,100 478,600 808,500
= 116,000
& 1,171,100
= SE3) 2e 1,287,100 478,600 808,500
= 116,000
& 1,171,100
CESH JIEAY &= 13,100 319,000 A 305,900
201 L2l 5,000 37,000 A32,000
01 AFS 22|l 5,000 37,000 232,000
O3 /33 29 5,000
202 (44l 8,100 9,000 A 900
01 S LHOYI 8,100 9,000 A900
o33zl Y= 8,100
QMAG FA 1,000,000 0 1,000,000
403 XX S S X201 & 1,000,000 0 1,000,000
01 AXSHMA2EER 1,000,000 0 1,000,000
OHLt QMAE HAX| F& 1,000,000
2RNESE 2Y(=21) 174,000 0 174,000
= 116,000
= 58,000
201 LB 40,000 0 40,000
= 20,000
& 20,000
01 At 22l bl 40,000 0 40,000
O=22 ME £ MEUHE g8g9d 5 40,000
= 20,000
& 20,000
202 (44l 14,000 0 14,000
= 7,000
= 7,000
03 =22AHFNHHI 14,000 0 14,000
ONAXESE UWEHZ It 14,000
= 7,000
= 7,000
207 AN 30,000 0 30,000
= 15,000
= 15,000
01 A1 E S| 30,000 0 30,000
Q=X A 29 30,000
= 15,000
= 15,000
308 AHXISHH SOl 58,000 0 58,000
= 58,000
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32,000

100,000
100,000
100,000

26,661
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A1,081
419
21,500
480
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A6,060
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LH3r
uiEd
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70,000
70,000
70,000
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72,280
72,280

72,280
47,500
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